Benchmark Review-Quart 2 Common Core Math 8			Name: _________________________________

	1. [image: ]What is the volume of the sphere?
	2. [image: ]

	3. When  8 is added to the number that is produced by doubling the number x, the result is equal to 8 times the number that is 5 less than x. What is the value of x?
	4. [image: ]

	5. [image: ]
	6. [image: ]

	7. Nathan is writing a short story that needs to be 750 words in length. He has already written 687 words. How many more words w does Nathan need to write? Show work. 
	8. [image: ]

	9. [image: ]
	10. [image: ]

	11. [image: ]
	12. [image: ]

	13. 

a. 



m3 = 5x and m 6 is 3x + 8.  Find the value of x and the measure of 4 and 5.


[image: http://img.sparknotes.com/figures/C/cdafbce3d7fbcda5507c818a9e198ec0/transversal.gif]
	14. [image: ]

	15. Use the Pythagorean Theorem to find the base of the triangle to the nearest tenth. Then use the height to find the area of the triangle to the nearest tenth. 
[image: ]
	16. Which value of m is the solution to 
a. m=2.5

b.  m=6

c.  m=10

d. m=24


	17. Which algebraic expression is equivalent to 6k+17?
a. k+8+5k+7

b. 4k+19-2-2k

c. 11k-2k+9-3k+8

d. 5+6k-k+13+2k

	18. [image: ]


	19. For which equation is x=3 not the solution?
a. 8x=24

b. 

c. x+11=14

d. 2x-3=3

	20. 
[image: ]
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A company charges $211.25 for 5 trees and 15 shrubs. The company charges
$15.25 more for a tree than a shrub. How much does each shrub cost?

A $6.75
B $7.75
c  $19.25
D $22.00
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A cylinder is 20 inches long and has a diameter of 10 inches. What is the
approximate volume of the cylinder?

A 200 cubic inches
630 cubic inches

B
c 1,570 cubic inches
D

6,280 cubic inches

Go to the next page.
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GRADE 8 MATHEMATICS—RELEASED FORM %

Kim made soup which contains 75 total ounces of beans.

. The soup has two kinds of beans, black and red.
. There are 4 times as many ounces of black beans as red beans.

How many ounces of red beans are in the soup?
A 5

B 12
C 15
D 19
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30 What is the area of the triangle shown below?

4 square meters
6 square meters

12 square meters

O 0 W »

15 square meters
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GRADE 8 MATHEMATICS—RELEASED FORM

43 Molly wants to put a fence around an area. The fence will follow the diagram of the
triangle shown below.

About how much fencing does Molly need?

A 28ft
B 38ft
c 43t
D 49ft

44 The points ('3, “1) and (3, 5) are adjacent vertices of a rectangle. Two of the
sides of the rectanale have a lenath of 8 units. What is the lenath of a diagonal of 5]

Done | o o 4
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What is the value of x?

A 400
B 80°
c 1200
D 140°

\—=g

42 Lines/and m are parallel to one another and cut by transversals s and t.
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183 cm®
549 cm?

733 cm®

85°
130°
145°

150°

—53

46  The measures of the angles of a triangle are 50°, 35°, and 95°. What is the
measure of the largest exterior angle of the triangle?

Go to the next page.
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45 What is the approximate volume of the cone below?

7em

A 70cm®

B 183 cm’
c  s49cm’
D 733w’

46  The measures of the angles of a triangle are 50°, 35°, and 95°. What is the
measure of the largest exterior angle of the triangle?

A 85
B 130°
c 145
D 150°
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A rental company charges a flat fee of $50 to rent a jet ski. In addition, renters must pay
$17.50 per hour of ski use. Which equation correctly represents the total cost, ¢, to rent a
jet ski for & hours?

A ¢=50.00r+17.50
B ¢=17.50h+50.00
C  ¢=325h
D

¢ =675
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40.

A truck rental company charges $20 plus 9 cents per mile. Joe’s friend offers to rent Joe
his truck for $35 and won't charge him mileage. What is the minimum number of miles
Joe has to drive to save money using his friend’s truck?
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55
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167
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How many inches long is WX ?

12 In AWXY, WYis congruent to XY . The perimeter of AWXY is 76 inches.
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